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l.The firm has its product safety and 1n a timely manner.
(A) package (B) be packaged (C) packaged (D) packing
2. She’ s come up some amazing scheme to double her income.
(A) by (B) for (C) to (D) with
3. The government 1s being widely in the media for failing to
limit air pollution.
(A) criticism (B) critique (C) criticized (D) criticizing
4.We had to wait months for the council to our plans to extend
the house.
(A) approving (B) been approved (C) approve (D) is approved
5. They ought to have arrived at lunchtime the flight was

delayed.
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